N = 0l & AF & F Al A

GPE2AL
NAEHOAZAIY (EH/EAHOZ)
AL BAX L 2L (Shel: &)
K- E3 .S (3H) - MBAY - B Ofl A o4 gggf; HRS2
244 5,242,604 4,779,934 462,670
= 522,355
Jl 1,336, 185
= 543,359
imi 5,460
Al 2,835,245
HEHOAZAIY(EH/EBAHAZ) 928,978 927,752 1,226
= 267,346
Dl 5,000
imi 210
Al 656,422
B4 BAXA A2 297,135 305,550 N8,415
imi 210
Al 296,925
BAHHIE2H X 186,950 172,872 14,078
imi 210
Al 186, 740
101 Q14| 34,980 26,506 8,474
10 JIZHZ22XNEES 34,980 26,506 8,474
OxX&as53 & &l 1,760
-0l 33,5002 *4% *32 43| 1,608
U2 JIAR2S2 1,608, 000& *9.45% 152
OBABZIY (LolA T BE) 33,220
-0 200,000& x22H «7 & 30,800
-2y 2 20ZY| 110,000 22 2,420
201 LBrEAH| 128,590 117,622 10,968
imi 30
Al 128,560
01 AtR22id] 18,310 12,760 5,550
O1. 28424 8,520
-EH2AA J|Etx=2H] 6,000,000& 6,000
~BAX L LEHA R0
30,000 7 A~ %128 2,520
O2. /&=l 1,750
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Mz NAEHOAZAIY(EH/EAHOAZ)
Bel 2L HANA 2R (cHol: & @
SMN-HHM .. AHA(SH) - MRAY - BES O AF K dd = Hlw &2
- = T - = oS = =5 0:”/&,% Lsa
-t EASX LR S WK
30,000& »15%H 3 1,350
-==EH9 WsSEH| 80,000& x5H 400
O3.2g9=Y 100
02242 Bus ZAZ(01Y)
100,000& =1 100
imi 30
Al 70
O5.a &l 2,940
-SAHHALRFE OII22X5 =4
7,000& x7H 62«10 2,940
O6.9xt= 5,000
- ZXNE A=Xt Yt
250, 0003 *1CH*203] 5,000
02 =229l 110,280 104,862 5,418
O1.3322%HA 77,880
-XEHAMZS3 500,000 =6CH 3,000
AT MBS 30,000 *8I A+ 12& 2,880
-&JIe3 600,000 *8I A+ 12 57,600
-N3 3 1,200,000& *12& 14,400
O3. A& & dl = X dl 9,900
-BHEEAAHE SAES 700,000& * 123 8,400
-olz2 &l #ANE=+ 1,500, 000& 1,500
O4. t&H e 22,500
-S&Z2(R31) 3,198,000 = 1CH 3,198
-AESE(ECHH) 2,558,000 *1CH 2,558
-St= (&9 XRL) 3,241,000& = 1CH 3,241
-AYHESE(LE22AXE) 4,501,000 =3CH 13,503
202 Oidl 8,820 9,720 A900
01 =Wobl 8,820 9,720 A900
OEHdE LRFE0HYI
60,0003 »7H 3 x73] 8,820
203 YR F&H| 6,000 6,000 0
03 AIHEZFAHRFEY| 6,000 6,000 0
OAMFXHRFXH| 6,000,000 6,000
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SN GREAA
HH: X ABABAY(BA/B2R)
Ol 224 BAX A 2H 22 EER-ED)
_ _ _ Muo
SH-EFHHA(FA) - NIRAE - BES O AFH 'oﬂ/'\_WH Hlws2
02.9 24| 14,660
—E2AX A Lol 2| 14,660
29
1,18521 %952 xBAI 2H*1.7 £ *7H A 10,718
CeZ))| 1,18521 %952 3 £ +77H A 2,365
"HUE () 1,18521 %952 2 ¢ +77H & 1,577
O3. Al ZHIR XY 12,525
~AS ST 12,525
224 1,458%1%3, 184m 4,643
SR A 1,92321%2,025m 3,895
A2 A 4,17421%955m 3,987
401 AlEHIZ 20| 17,000 29,500 12,500
01 Al&H 17,000 29,500 12,500
OUBAR A B2 U BLBA
17,000, 000! * 14! 17,000
405 TrabE S| 1,680 13,504 A11,914
01 RALSE3 =4 1,680 13,594 11,914
ORIZUIIE X7 (ALY, SHAIA)
600,000 <274 1,200
OEYAAI| 2 60,0002 *8H 480
S01E Q2 AHIA A 566,635 579,262 12,627
= 267,346
p] 5,000
Al 294,289
SO01ZE Q2 AHIA LAY (BX) 558, 135 568,609 ~10,474
= 267,346
Al 290,789
401 A&HIYLRHY 558,135 497,609 60,526
= 267,346
Al 290,789
01 Al&H 547,410 488,090 59,320
OSHBANA A= 547,410
SJ =2 E AL I
498,780,002 +5.74/100+40% 11,452
Al Al & 5] 498,780,002 +5.74/100+60% 17,178




SN HRBAA
Ha: NEHOB A (BH/2HAR)

H@H: sHE 2= HMEIA e (&2 &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
-Al &8 518,780
CTSHEANMST ZAF
498,780,000 14 498,780
2 267,346
Al 231,434
CSHEAHAXNAEN L HAFHIIZ M
2l bl 20,000,000 =1 Al 20,000
02 Zeldl 7,133 6,331 802
OsSiEAHX A M= 22|
498,780,000& *1.43/100 7,133
03 Al&20iY] 3,592 3,188 404
OsSoHEAHXN A M= AIEL20H]
498,780,000 *0.72/100 3,592
SHEtAHUAS A D= (EX) 4,500 3,702 798
J| 3,000
Al 1,500
405 AHAHR SHI 4,500 3,702 798
J| 3,000
Al 1,500
01 XML SEFSHI 4,500 3,702 798
OstAUSA J|7 2 4,500,000 4,500
J| 3,000
Al 1,500
SHEt XY BHAIE (EX) 4,000 4,076 AT6
| 2,000
Al 2,000
405 KHaHE S H] 4,000 4,076 NT6
J| 2,000
Al 2,000
01 AAMTSSFSHI 4,000 4,076 NT6
Ostgtalay AIIFs P2 4,000,000 4,000
J| 2,000
Al 2,000
Ol A K& 37,540 39,540 A2,000
A=zHLR XA 37,540 39,540 A2,000
201 B9y 11,040 11,040 0




SN HRBAA
Ha: NS EHOB AL (BH/2HAR)

S ELERE Rk
_ _ HE T
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 il b o HRs2
01 AR el 11,040 11,040 0
O1.Yer4gY) 1,040
“LAHHIIZ 224 E 1,040
TEAL 200,000& x12& 2,400
R DN EAPN N
40,0003 18I 2+ 122 8,640
301 ptEasg 2,800 1,000 1,800
10 BAAHESS 2,800 1,000 1,800
OEdasd sS4l 7,000& »2EH «200 2,800
307 glz2told 23,700 27,500 23,800
01 g2+ =l 23,700 27,500 A 3,800
OEAX L o%E FY 17,100
~QBE 2 ootE (FDI)
800,000& 14 A +12& 9,600
-SHYTIE OB (HI. IS, )
2,500,000& 304 A 7,500
OAEHSHA 2K Y S2YAE 2
100, 000! *35| * 12 3,600
OR2NL A2L2E 7Y
500,000 *31t =204 2 3,000
oerate| 27,668 3,400 24,268
oer 2t 27,668 3,400 24,268
201 Lt 5,508 1,240 4,268
01 AtS2&eld] 4,008 1,240 2,768
O1.2et=24] 3,000

-SEJI2NE L A=SE UIANA R

el 100,000& *15& 1,500

-0 EIX ¥ Ad=EHESA EES M
1

,500,000& 1,500

05.32H| 1,008
Ol REF ORIDLR SA
7,00021 +3% x62 83| 1,008
;2 Bz 1,500 0 1,500
O1. 2222 YHA 1,500
~SACIRAEEA 2B 1,500,0002! 1,500
202 o1t 2,160 2,160 0




SN EREAL
HH: NAPARAR (22 /BAAR)
SH9l: o| o2t (9l & 2

SN (B) - MBEAY - B2 0f Ao Soe HRZ2
01 =2WAbI 2,160 2,160 0
OoadAdA NEEE =&
60,000& *3H *3! x4 3] 2,160
207 AR INEHI 20,000 0 20,000
01 H3xs49H| 20,000 0 20,000
OABAE L REEA B0t 2
20,000,000& 1Al 20,000
MY 2AAG(BH/BAHAAZ) 197,837 145,546 52,291
= 1,700
J| 9,750
= 11,595
Al 174,792
g — 117,037 77,385 39,652
== 3,600
Al 113,437
gAN= 105,037 67,385 37,652
101 Q124 d| 49,231 31,654 17,577
10 JI2ZtHIZ2E2NSE S 49,231 31,654 17,577
Ogretolsel 42,403
-2t 36,7103 *6H x180 39,647
-0F2t 27,5603 x2H 50 2,756
OgAASOIR 24l 2,0002 *6% +180L 2,160
Ot ol ISHI(2XH, otMg ZE)
110,000& x6H 660
O4UEE D22 42,403,000& x9.45% 4,008
201 LErEIH| 5,220 3,500 1,720
01 ArR2t2lbl 2,620 900 1,720
O1. g8+ 8y 1,500
-HAZC THREEAMHIAAIE EE22 HZ&
150& 10,0005 1,500
O5.2 &t 1,120
“HAS A2 24
7,000& x2H *80! 1,120
02 =329 2,600 2,600 0
O3. A& ZH KX 2,600




2N GREAL

M MY ALAIL(BAHA/BEHZ)
ool HeiAs Rk
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
-gtA A RA22H(SHSEE) 2,600
T XEE 40,000& *35CH 1,400
TEUE 30,000& *40CH 1,200
206 M= 46,652 31,381 15,271
01 =4l 46,652 31,381 15,271
Ogtg A S krEH| 29,150
-E28 &3 35,000& 650 22,750
-REFME 80,000& *80= 6,400
OB dAAES 2FH| 8,250
=28 &4=H 35,000& x150= 5,250
-dotg A4S 30,000& x100S 3,000
Oogd9g K24 9,252
-Fge 1,590& %20 ¢ 180! 5,724
-84 1,470 %60 £ *403] 3,528
301 dE8AZ 784 850 \66
10 SEAAHIEAZ 784 850 \66
Oftggdct NsHIlg AL A (SH
s) 7,000 *7H x16JH &~ 784
405 KH&HFE S HI 3,150 0 3,150
01 L ESFHSHI 3,150 0 3,150
OoxegE 822 1,000, 000& *3CH 3,000
OgdExeE 2s(1E8) 150, 000& * 11 150
HOHCHEI S A S ABAURIA (2 E) 12,000 10,000 2,000
= 3,600
Al 8,400
206 M= 12,000 10,000 2,000
== 3,600
Al 8,400
01 MNZHl 12,000 10,000 2,000
OMoiiigl L ASAE L 12,000
-22S4EH 35,000& *300= 10,500
= 3,150
Al 7,350




SN HRBAL
Ha: Moy melAY(2/208)

chel:

oz
I
IS
Jn
m
0
Pl
40

_ _ _ Muo
SH-EH . S2(30) - MRAY - BES Ofl & 04 Sl e HRE2
Y 6,2502 2405 1,500
< 450
Al 1,050
g 2el 56,300 34,206 22,094
= 1,700
Il 7,500
= 6,870
Al 40,230
HEHUY SEEAY 32,100 20,134 11,966
201 LEHRHH| 9,800 1,900 7,900
01 AtS2&cldl 3,800 900 2,900
O1. g8 2,000
-=HJ 222 & 2,000& =1,000H 2,000
O2.91e RS 1,800
HAEASI MHDE AL TRY)
400,000& 1 400
“HYEHSI ASNUE SIS DY|
1,400,000 x1H 1,400
03 A2 Y] 6,000 0 6,000
O&EAD EE2ET B34 6,000, 000& 6,000
202 OdHl 2,160 2,160 0
01 =LHAHI 2,160 2,160 0
OgddRF=A0oHI 60,000 x3H 3L 43 2,160
206 = HI 800 0 800
01 MZHl 800 0 800
OIS LAHTS YAE 7o
4,000& +200S 800
301 LerENI 19,340 15,624 3,716
01 AE2EHE =63 18,780 15,024 3,756
OSOIZEX 4ABZY|
313,000& »5H 128 18,780
10 AIAHIE &= 560 600 240
OFHHLRLIHQY slABAT 24
7,0002 #40% %23 560
HMHH2A N LML WS (EX) 1,440 1,200 240
= 720
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2N GREAL
MM Moy pelAg(22/22AR)

ool mely el (E9: @)
RA B SA(BH) - NRAY - B 01 e HRE2
ol 2,640
= 2,640
NELEENESEINETEES 4,800 3,400 1,400
< 1,020
Al 3,780
201 ety 1,800 2,000 A200
01 AlR2elt] 1,800 2,000 200
O1f. et +gH| 1,800
-ZROIBRAR L ABHAHY B2
S = 2002 +9,000 1,800
202 01l 3,000 1,400 1,600
= 1,020
Al 1,980
01 =LHoit] 3,000 1,400 1,600
ONBHA LKA ZXO1 Y|
20,0008 *3% *52 x103] 3,000
= 1,020
Al 1,980
VB I EEEPETEES) 1,500 1,000 500
= 300
Al 1,200
201 Yereo| 500 500 0
01 AFR2elt] 500 500 0
O1. et 500
U= TR TR
500%!*1,000% 500
202 01| 1,000 500 500
= 300
Al 700
01 =LHoitl 1,000 500 500
O0I01 X242 0l 2 XI R ALY ST 04 |
20,0002 x2% *52 #53] 1,000
= 300
Al 700
MU ™EHBRY(BY AY +HLY)(2X) 9,720 2,122 7,508
| 4,860




SN HREAL
M oW RelAY(22/2A0R)

ciel: Moy 2 T (Sl e g)
SA-EH O (BH) - HBAY - B2 0 Ak o1 e HRS2
HYUEESAER(BE 2tE +=M2ZH)(EX) T 2,430

Al 2,430
301 et AS3 9,720 2,122 7,598
| 4,860
& 2,430
Al 2,430
01 MIBEHGHZ2 9,720 2,122 7,598
OBl 2tE =X 2 F 0l 2 & S|
120,000 *81H 9,720
J| 4,860
= 2,430
Al 2,430
Hel & A 24,500 33,955 N9,455
J| 2,250
== 1,125
Al 21,125
Hel B At 20,000 29,455 N9,455
207 AR INEHI 20,000 21,455 AN 1,455
03 A& HFHI 20,000 21,455 A 1,455
OHalZA Al L £22E ¢
20,000,000& 20,000
Ol0l = EICHAISF RQIH|(EX) 3,000 3,000 0
Jl 1,500
= 750
Al 750
207 HAFRINEHI 3,000 3,000 0
Jl 1,500
= 750
Al 750
03 A& H7HI 3,000 3,000 0
OO0 =&ISHAl 2 22 250,000& *x12& 3,000
J| 1,500
o= 750
Al 750
Ay RChAlF RH|(EX) 1,500 1,500 0
| 750
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33,340

17,100
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16,240

A 200

H3r
uiled!
pak=

1,500

1,500

278,166

123,460

112,800
112,800
112,800

10,660
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3,000

2,560

5,100

154,706
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o

s

<J
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Iy
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1,500
750

Al
p)
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By

375
1,500

Al

1,500

750
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Il

H

Al

311,506

140,560

129,600
129,600
129,600

129,600
50,400

79,200

10,960

10,960
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3,300
2,560
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4,200
900

170,946

26,586
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SM: HRBAA
B HESAAY (HPEAL BAME ) (IIEH/IIE
cHel: D12 A (47 2ARF D) (crol: &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
O1.Yb8t=2H]| 11,650
-EA2Y et-2H| 5,650,000& 5,650
-2EHE2YE JAADREH| 6,000,000& 6,000
0O3.24+4 4,400
-2 X 40,000& x 1 %110 4,400
O5. 2 &l 9,000
-2ENEYE 24| 9,000, 000& 9,000
02 =229 1,536 1,536 0
O1. 22222 A 1,536
-2EAEY s32= 1,536,000& 1,536
A=A 144,360 127,920 16,440
202 O4Hl 144,360 127,920 16,440
01 =2ZWoib] 77,760 65,520 12,240
OFRIIFF=A0YI 20,000 x19H x99 x 12 41,040
OSEEAHAAN QY FFA0NHI
20,000 x17H x99 x12& 36,720
02 EHHHI 66,600 62,400 4,200
OBAX A Mz A SHNY|
260,000& *15H 12 46,800
OBHINA MNEAMFEZ,EI|, L) SN
o4 Hi 330,000& x5H x12& 19,800
AYST (L) (2AH/2AE) 3,690,389 3,316,865 373,524
= 253,309
J| 1,321,435
= 531,764
imi 5,250
Al 1,578,631
Yo g2e] 1,313,611 1,161,498 152,113
= 5,491
J| 531,329
= 193,380
Al 583,411
AL MEA ALY 6,040 24,800 A 18,760
201 2BtEAH| 5,340 3,800 1,540




[
’J
oF
uJ

(&)
F o |o (o))
< < |« = < J ~ S
KI0 o = ©
= < g
D
m o
o o ™
g 318 3 3 3 5 5
L4 3 ; & = = 5 z
<) ” °
KIS
S 8 8 83 8 88 8|lglg g8lz g2zl e B
38 8 83 § 5§ SRR S|l 88 3|gSehlg 8888|888 8 8|8
) B & 2 Qe @ © o o T - o o v o<
g C T
<
=
= W o= W o= = = =
4 _
m m - - — - ~ W =< ~ W =
T T e T g & ke
& o x T T x N
or = o mw ~ oOc & q*ﬁ kS
0 s 9 S = S 3 7
> ¥ S 3 S ; S i
Bl N oH o X o o o o
RMX o = P )
. K _ 8 80 =L S g S
=z 0 a1 o u >a _. B IV .
al S ntw - x o0 R s %
= m B o @ 0 o~ = <
IF o0 = a4 +e = -~ "
= - = K0 <8 = 3 K4 o
o o. _ 0 = K0 ol
~ =R foi ) i 2 o I
= £ o &0 = < P 5.
= R4 I i o |3 ¢ ° o
a1 _ 5 @ Ao it A T o
Floz= 3 @ B = 0 oW | = e 3
o) D 040 L ~O 00 ojl ~O N no = < i /
o ull ~0 SDH 3 5 = i =)
Tl ¢ a3 & ¥ o8 owa | 2 | " B K 2
M % R 8 8 XM & K o M X o = v & =
. 3 A 5 R ol Hila =~ 0 D = = u
R o o< Ry o A = 0 L
3 LA_ o_v._ J LA_ 0 ol | = " - = 10 .
R = = A ol H el Y ) hS 7RO H|w iy
— | o | © o ®0 A Il ol A T |o 0
- |_ O O O O U ~ g | o =
z |5 S le r = O O
|~ ar = =) S
IF = = _ & 5
R o 2

_15_



SN EREAL
B AAS (L) (2A/2AYE)
Chel ol (S92l &8
SN EB -GS - MBAY - BES 0 & 24 e HRE2
Of. e+t 5,470
SHUYBENEAIY B22 L DSIIX
2,270, 0002 2,270
| 1,135
= 340
Al 795
-ZeldEE ANE 7Y
100, 000! +8% 43| 3,200
| 1,600
= 480
Al 1,120
O2. 9= nsH 3,000
SHUHENE LI} IS DEY)
1,500,002 x2% 3,000
| 1,500
< 450
Al 1,050
032948 24,330
SHBHEINS MBS BAS
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